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L (8%) BERERT LM :
CPU, DRAM, MOUSE, WWW, TCPAP, CD-ROM, DVD-RAM, TFT-LCD.

2. (10%) FATHEMA Wbt T 2 29 5k 3 2k ) (First-In-First-Out)? /) B 4746 4 _
FEHERTEE L #S H (First-In-Last-Out)?

310 BTFCEX A BRAARRIEP R LT

int n; -
float a, b; -
o=10; a=10.0; b=5.0;
if(in<@)

if (a>h)

++n;

else

I

printf{“%d\n™, );

4, (12%) f{100)=100, £(99)=99, 7(98)=98
Sni=f(n+ D+ f(n+D = fin+3)
HE— & C BAR—MRQK & X recursive function)t} & £(0) = 7

5. {(5%) Anarray A [n] stores n 2-byte integers. In a 16-bis computer, given that A[]
is at address 104, (decimal), what is the address for A{8] in an octal number?

6. (15%) Convert the following numbers according to the requirernents: (You must
show your work pruca;_ss to pet full credits)
o 71345 (B-based)to Hexadecimal
o 3156 1o (10-based) to octal (3-based)
e (A2F)y (Hexadecimal ) to BCD

« (1001 0111 0011 1000) grp  to hexadecimal
o {65343} (7-based) to Decimal



7. (10%} Describe major components in a typical personal computer system. Explain
the functions of each component,
(%)
E.‘Tf-'ﬂrum the viewpoint of information hiding, which of the following languages is
the best?

(2) procedural language
{b) functional language
(¢} object language

(d} logic language

9. {10%) What are the difference between a roundoff error and a truncation error?
What kind of the above errors can be reduced by using double-precision arithmetic
operations?

10. {15%) Prime numbers may also be generated by an algorithm known as the Sieve
of Frastosthenes. The algorithm for this procedure is presented below. Write a C
program that implements this algorithm.

Sieve of Erastosthenes Algorithm
To Display All #rime Numbers Between 2 and »

Step 1: Define an array of mfegers P.
Set alj elements Pito 0, 2 51 sn.
Step 2: Set i to 2.
Step 3: Display / as the next prime number.
Step 4: For all positive integer values of j such that { #j < n sef Pitol.
Step 5: Find the next value of £ such that Pi = 0 and return to Step 3. ifno
value is found, then the algorithm terminates.



